|.,._i |||
s g L
%\\mm:_.;.wEn S N -
= =D
.\.ﬂ?)}wu mj |\\/
\ et = IS /
Y v N
ol PAredayl /o
MY
b T £ Mu N
b Al
A4
/ \\ k >
4 \w___\ il
LV b Zlol 1l /
// . /. MM .
A L/ /4 A
A0 A .
=
LN VA W7
RNEE NAVERy
YT/
\\
Z -
|r\., /
i
_ ™ )
-




forced entry protection, air-

Screen Room, Covered Patio Room
Pool Enclosure .
S : 2 x 3 x 0.045" (Covered Patio Rooms)
. . -\V| or 2 x 2 with 1 x 2 (Option)
OPEN" Structures ONLY or 2 x 2 x 0.044" (Screen Only Rooms)
Post to Edge Purlin Connection m
Scale: 3"= 12" -
= |3
" ® |2
(4) #10 x 1 2" SMS through m
bosses i) M.m_
. [5
—l——Post (Varies in size) @ £ mw
R o2
Project Location w_amﬂm_ﬁ | 3 Internal Receiving Channel m : mm
z ttach internally A @ ldg
Project Name with (2) #10 x 2 SMS _—[— (4) #10 x %' SMS each side m i[5z
OObSuf into screw bosses | e &
- =
it Number
Permit Nu. Chair-Rail =
. . . 2 x 2 x 0.044"
T I— Post to Chair-Rail Connection
Scale: 3"= 12"
Wind Velocity: 120 mph, 3 sec. gust —
revEeey 130 miph. 3 880, guel .1 @m_ﬂax\ .
) — —~Post (Varies in size)
Risk Calegory: [ Recei: ON -
ey (FBC-2020 rev 7) >n s A.v/ A
ci OPEN" or “ENCLOSED - 4 v
Encl §o. “or p e e
felosure iass o s W FILE .\..C_U/_\ ﬁw; | Internal Receiving Channel
Wind Exposure Type: "B" or "C" (See tables) et = \ Post (Varies in size) | (For posts over 2 x 3 only)
Internal Pressure +/- 0.0 (Open) /;wx 2" x 2" Structural Angle
Coeflicient: +1-0.18 (Enclosed) / 1 %2 %0,045" Base (For posts over 2 x 6 with non-screen roofs only)
Applicable Sunroom | - Roof with screens et ' **SEE ALTERNATES SHEET 2 W
Calegories: I - Roof with enclosed walls i
(Non-conditioned)
11l - Roof with enclosed walls, 1/4" x 4" Wood Screw, 3}
6" max. from (2) #10 x 2" SMS into screw bosses |

leakage and water resistant
(Non-conditioned)
1V - Type lIl + Conditioned
**Type V Category Is not
applicable for these plans

All construction shall be provided in accordance
wilh the current recognized versions of the
Florida Building Code,

OSHA, AISC, ACI and ASCE codes as well as
all applicable local requirements.

Base connections shall be provided as shown
and shall be field adjusted on the basis of the
manufacturer's requirements for aclual soil type.

All materials identified by manufacturer name
may be substiluted with comparable materials
that exceed or equal the specificalions for the
original malerial.

All field connections shall be #10 SMS or better,
unless noted olherwise.

All Aluminum shall be Alloy 6065T5 andfor 606176 for
horizontal and verlical framing members, except

roof panels and Super Gutter, which are

proprietary to the manufacturer,

each side of posts and
24" 0.C. (max)

Or: #10 x 4" Wood Screws

6" max. from

each side of posts and
18" O.C. (max)

Post to Base Connection -
Wood D

Scale: 3" = 1-0"

**See alternates Sheet 2

]
1/4" x 4" Wood Screws
(typ.)

T T T

STRUCTURAL ONLY
THOMAS E. BEITELMAN
LICENSE #51870

| it ——

5/5/2021

Varies

SCALE

Aluminum Screen Enclosures - General Drawings
"Eﬂl*i By: | Date:

ROJECT
TITLE: Details

[ steer [1]or [e] |




1sod ayj oy

«&k = .E 908

SuUoljoauUU0y 1S04

T o ] 1202/5/5
TIER
= o [P
W o =~ T2
@ 0£815# ISNION
NVIWTI3L1I38 ‘3 SYWOHL
ATNO T7HNLONYLS
nnn|m M3IA 8pIS -

RHIVOS]

Buiwesy yoddns o0y payoeye

'0'0 .2 @ smaIg v X v/l

sBuimel(] [BJauss) - SAINSO[DUT UBSIOS Wnun)y

oy rewd Suewieg - 05L9-£p% (12£)
LOEZE 14 "sassequyi) *E0¢y wur) 3y 3wd 5 979C

090TH 1S ‘OLS1SH 2d FPHoly

1s0d 1o} Uieaq yoloN
1ej4 Jo padojs
-\ weag Bupe-jias

weaq ay) Jo s8pIs Yjog Uo sMaids Jo saquinu jenba
Jo fipuenb jejo o} stejad Ajjuenb malos Wiy

.8/ ___91/S__ oouelsiq abp3 WnWiuiy
L ___p/£ .8/ bupeds Wnuwidip
ZI#E__OL# __ o#

8l

143 9l 8l 9x¢ 6X¢
cl vl 9l §X¢ 8XZ
0l cl 4 PXxe LXT
9 8 0} pXe 9x¢

Bujweyy poddns o) payoene

jsod wolj ssa| Jo g pue
= SMILP/E X ZL# 10 S¥0°0 X Z X | yBnoiyy & X b1
3 SMIL 91/6 X 8# —
SBILXALX AL —
m |auuey) aseg |eussiu| «£l = .E 9Bdg
——— uopoag doj - suoiPauUo) 1S0d ()
@ & |
9
NXZEX ‘4
Jabie 1o ¢ X Z 1s0d |\< i e SPO0XEX1 _
| EEE. oAy
@
8 Buiwey w._oan_:mM |
03 payoeype jsod v@ﬁ Buiweyy poddns
Wwio1) $89] 10 g pue j 0} payoeye ‘0’0 .2z ®
1 SPO0XZX | SIRE SMIOS b X /L
] o ybnoiy . x /L @ o
= 1s04<] SIXHLXZ SYIL V€ X Zhi#t 10
m / N\ |auuey) aseq |euiaju| SM3IL .91/6 X 8#
B 4 136187 10 ¢ X 7 1504
e Lo |
¢
M... ¢ (02)
- ) |__——— SIS 0L# (02
g =]
m o lmrA 01 = £ 19/e08
_ "XeW '0'0 bz Je paceds —_— .
& 6 - v SMaIOS UM YOBNY awielq Ule
o~ \ 1 IT——— Zx1umexg - |lele( nwu_ |elled
= |

jsod wouy
Ajjeuisiul yoepy

sjuswadinbal Bujoeds [eanuapi
Y}IM SMB.1IS POOM Jof uoade] . X /L
amIsqns ‘aseq 9)a1ouo0d Jof A|ajeuds)y - 2

'aA0GE pajou se

Pajjejsu] SMaJas [euopippe ssajun ‘Ajuo swajsAs Jooy uaaios - |

‘S8JoN
401 = £ 9]eaxg

(uoneje)sul 3sod |jBLUS) UOIDAULOY) BSEY 0} }SOd Sjeula)y

Mojaq | 9jou @ag
swiajsAs Jool pijos 1o} jsod Lo}
.1 @ smaios |euonippy

mojeg
Bujwes4 poopp

ased Sy00XxXegx |

5

sapIs yjog 'sassoq
Ma10s ol SINS .Z X OL# (2)

(xew) ‘0°0 .81
pue sisod jo apis Yyoes
woyy ‘Xew .9

SMBIOS POOMA 7 X OL# 1O

(G xZpue yxg) xew 00 .8l
(z x ¢ pue

'eXZ'TXZ) Xew Q0 b2

pue sjsod jo apis yoea

WwoJj "Xew .9

'MaI10G POOM ¥ X /1

é_co_mxmucmvxm
'Zxg'exg 'z xg) sisod

W0} = € ‘91edg

(eseg a)a10u0)) UOOBULOY BSeq 0} }SOd BjeLIs)Y

("dAy)
uoadel ¥ X b/l

|

$9SS0q MaI0s OJUl SIS .Z X 014

€ 133HS SILVNYILTY 33Ssx
(Ajuo sjools uaaios-uou

Yum g x z Jano sisod Jo4)
9|Buy |eimonns Z X .2

(Ajuo ¢ x z 1an0 sjsod Jo4)
|jsuuey) Buiniaoay |eulsiu)

mojag

n (xew) '0'0 .2
\/ pue sjsod jo apis yoea

woJy ‘xew 9
‘uoodel . X b/l

—— '@seg GO0 XZX |

| e (az1s U salep) 1s0d




Purlin I/
J \
Ly

Attach ExternallyWith (4) /I
#10 x 34" Screws Thru
2x2x0.125 Angle

Beam

TYPICAL PURLIN AND BEAM DETAIL

Allacn inerndny vviwn

(2) #10 x 2" Screws

Into Screw Grooves
_‘

2 x 2 x0.125 x Beam Depth Receiving Channel

Tributary Beam With #12 Screws Into
Both Members
m Attach To Stud Frame W/} " @ x 3"

Lag Screws (Pre-Drill)

Attach To Masonry or Concrete Wtih J."
Tapcons With a Min. Embedment of 3"

5
ssoon

m Host Structure

Girder

TYPICAL GIRDER DETAIL TO HOST WALL

2 % 2% 0,125 Angle Clip Each
Side of Tributary Beam With #12
Screws Into Both Members

T
-5
cooon
soooo
T
-3

/

/

Beam
Girder Shall Be One Size

Deeper Than Tributary Beam

TYPICAL BEAM AND GIRDER DETAIL

1%"x 2 1/8" Channel

&

.
5
0‘005‘"—-.._

/

Beam \\ WI)!
Girder Shall Be One Size

Deeper Than Tributary Beam

ALTERNATE TYPICAL BEAM AND GIRDER DETAIL

— Beam

#10 Screws

Verify length per post
OR 1/4" Through bolts
i with nut and washer

&— Post (3x 3)

-

Internal Base

#8 x 9/16" TEKS
or #12 x 3/4 TEKS

-,
Beam Allowable Post Heights For
" Square Posts (Screen R
|
. ,___,“.._n_._ .___.__._dmn.m:_._m_:,_me_nmﬂ (120 mph, 3 second gust wind loads)
Area Allowable Height
T f [ 3x3x0.04 | 3x3x0.06
Post (3 x 3) 75 14'-9" 18-2'
| 100 13-3" 16™-11"
e 125 11-11" 15'-9"
150 10-9" 14'-8"
175 9'-8" 13-8"
Internal Base wmo %.”_mo.. _._Am. ..w_ 4
ﬁ #8x 916" TEKS | -223 i AR
or #12 x 3/4 TEKS 575 54 104"

4— (4) 1/4" x 4" Screws to support

&— (4) 1/4" x 4" Screws to support

Post Connections - Saddled Beam Post Connections - End Mount

Scale:NTS

Scale: NTS

2x2x 0.0447

OR
2x3x 0,045
Fill all screw bosses
with #10 x 2 screws
{refer to span tables)

Gusset Plata -
Match thicknees of spiicad
membars or betler

(6052 H-32 Alloy or
min. yield of 23 ksi)

Each side of splice

Scale: 1 %" =1'-0"

2x 2% 0.044°
OR
2x3 % 0,045

Fill all screw bosses u_____.....__._.
with #10 x 2 screws 2 174" max.
(refer o span ?w_m&l/

S ...-n.u
Gussel Plala - * S
Malch thicknese of spliced . .
mambars o belter Y g
(5052 H-32 Alloy or ik G 318" min.
min. yleld of 23 ksi) e A\ 1 %" max,

Each side of splice

Scale: 1 "= 1-0"

Screws per charl, sheet 2

2626 E. Park Ave., Unit 4303, Tallahassce, FL 32301
(321) 543-6750 - beitelman(@gmail.com

Thomas E. Beitelman, PE

STRUCTURAL ONLY
THOMAS E. BEITELMAN
LICENSE #51870

£t =

5/6/2021

[CLIENT:

Viries

Ilm_-:hm_m

Aluminum Screen Enclosures - General Drawings
[SCALE:

PROJECT




1202/5/S
)

. 0 ) i ]
g olFl| —=—"%/4 TZ
i WD

e 02815# ISNION
NYWT3LI38 '3 SYWOHL
XINO TYHNLONYLS

N¥Td DILVIWIHDS LNJWOHVLLY ¥3LLN9D ¥3dNS TvIIdAL
ONIDW4S Y38 FHL /1 38 TIVHS DNIDYCS dvHLsS

_.| WwNd3 _ WwNd3I m ONIDVdS Wv3g i

sy, STVIS|

sBuimel( |Blauas) - SaINSOPUT Usaldg WNUILN)Y

I
|
]

NOLLWDO1 dVH1S

2N\

BT 27 i o i o e
FUNLONYLS 1SOH

LINFTIOD|

weag Jalien

1s0d —1>

AT I

:Olar = .-m ”m—mow

S[oUEd 9JIsodWio) [B1ond1s 0] Japng Jadng JoO jusluydeny
sjuawalinbal adidumop

aulwJalep 0} J0JoRIJUOD

Hd ‘uvmlmi”;if ?::i”:;;?iou

woy el - 05L9-¢vs (1TE)
TOETE 14 "Seasequy[eL, "COTy WE[) "Iy Y H §T9T

L spus Jayel Je yoeye
8|nii8y p/e ybnoiyy pajjejsul
"0'0 #2 ® maiog e .8 x .8/¢

BueyJano ‘xew ,g| pue pus je ded JaAigdal o
Buiyseyy yum [aued Jooy |[BJoNAS £

siaysem yim 00 2L @ SINS . X /L

«0-L = £ 9E2g
Buijooy 9jisodwion 0] J9)INe) 19dNg JO JUSWIYIENY

sjuawalinbal adidumop
sujuwislep 0} J0joBluoD
lapng Jadng

[puueyd 2 X % 1

|auueyo uado
GPOOXEX|

abp3 duqg elose papnix3g

fueyiano 'xew ,g| pue pua je deo JaAi@dal Jo
Buiyseyy yym |sued jJooy [[eenss £

j spua Jayel Je Yoeje

a|nIdy p/e YbBnouyy pajjelsul

‘Buioeds weaq jiey pue

wesq Yyoes je maiog Be .8 x .g/c 1o densg

EOl-r = .-m ne—mom
3INjoNAg BUNSIXg 0 Japno Jadng Jo JUsoeNyY

syuawalinbal adidumop
aujwiajap 0} JojoRIUOD
Japng Jladng

Blose4 dAS Ld 9X ¢
Ja)ng Jadng

—mccmco :N x :N\F w

@ [suueys usdo
ainjoniig Buisixg — ® SP00XZX |
deg pu3 pajbuy ®
l\ql LA AL R AR AR AR AR AR AN el
i 5

ssnJ) Bunsixg

abpa dup Jspun papasul Ja)nNg

spua Jayel je yoeye
a|nusy /¢ Ubnoiy) pajjejsul
Buioeds weaq 7, pue weaq
yoea je maliog e .8 x .8/€



ikt Finished Grade
| oXoX f:_‘_n/r Ji

L

4" min.

8" Minl.'\

Vapor barrier

*Design based on assumed 1500 psf
bearing capacity of soil

**When expansive clays are shown to be
present from soil boring logs, a specialty
foundation is required to be designed by a
professional engineer.

Addition +—— Existing
2" min.
stepdown

Ex6x
#10 VWM

_ 4" _,_,__:.L_,

Vapor barrier

12" Length of #5 bars @ 48" O.C:
at level of reinforcement or ¥2 depth
of new slab. Drill 1" diameter by

6" depth into existing concrete and
epoxy grout into place

Connection to Existing Foundation
N.T.S.

3 %" Min.
Finished Grade

Typical Flat Slab Detail

(When no expansive clays present)
N.T.S.

SCREEN ROOMS ONLY
Requirements for Flat Slab Detail:

1 - Concrete to be 2500 psi min.

2 - Reinforcement to be either 6 x 6 #10 WWM
or Fiber-Mesh (must be verified for existing
slabs on grade)

3 - Slope along perimeter of slab to be maximum
of 1" per foot for the first 24" beyond the end
of slab.

4 - Maximum projection of slab beyond host structure
to be 20'-0" in 120 mph, 3 sec. wind zones.

5 - Local ordinances may require a minimum footing,
verify with local authority.

I

— Continuous No. 5
in cap or lintel course

—#4 \ertical, hook bar
(see table for spacing)
fill cells containing
vertical bars.

£
T T T

“H" See Table

#
\Imxmx 35255_

Finished
Grade

4" min.

8" Min.

Vapor barrier

See Table)

(2) No. 5 bars,
except as shown
in ribbon footing
detail to right.

3" min. cover

all sides

Typical Knee-Wall Detail

“H” [“W" | Vertical Bar
(in.)|(in.)| Spacing
40 | 12 8-0"

56 | 18 4'-0"
64 | 24 2'-8"

Per local code
Finished Grade

(1) #5 bar (Gr. 60)
3" cover all faces

Typical 8" x 8" Ribbon Footing
(When no expansive clays present)
N.T.S.

SCREEN ROOMS ONLY
Requirements for 8" x 8" Ribbon Footing:

1 - Concrete to be 2500 psi min.

2 - Slope along perimeter of footing to be maximum
of 2" per foot for the first 24" beyond the end
of slab,

3 - Maximum projection of slab beyond host structure
to be 16'-0" in 120 mph, 3 sec. wind zones.

 "X"Dimension

imension

Per local code
Finished Grade
#5 bars (Gr. 60)

See table for quantity
3" cover all faces

“Y" D

Typical Alternate Ribbon Footing
(When no expansive clays present)
N.T.S.

SCREEN ROOMS ONLY
Requirements for Alternate Ribbon Footing:

1 - Concrete to be 2500 psi min.

2 - Applicable where slope and or span exceed flat slab
and 8" x 8" allowables.

3 - See table below for allowable room spans in wind zones
up to 120 mph, 3 sec. gust winds.

—.x: :<_- zo. Um—.w

(in.)| (in.)
8 |12
8
12
12
12
12

Max. Projection
(ft.)
v
24'-0"
248"
38'-10"
38-0"
48'-4"

n|=a|alala
Bjoo|Gy R
WP NI N = |

(2) 2 x 8 No. 2 PT SYP band beam min.

(2) 2" diameter through bolts
(Carriage or hex-head)

Posts to be notched no more than 1"

D777 T P77

N\

/ Joist

& Post
(2) 2" x 12" dia. bars

Deck Post Support Requirements
Scale: NTS
Notes:
Design assumes a minimum soil
bearing strength = 1500 psf
Note: Use 4 x 4 Posts for clear heights up to 4'-0" above grade
Use 6 x 6 Posts for clear heights up to 8'-0" above grade
**6 x 6 Posts over 6'-0" require 24" knee braces!

Thomas E. Beitelman, PE

2626 E. Park Ave,, Unit 4303, Tallahassee, FL 32301
(321) 543-6750 - beitclman@gmail.com

Florida PE £51870, §1 82060

Beam Size Beam Span/ Maximum
Match Joist Size) Post Spacing Joist Span
(ft)
o'l STRUCTURAL ONLY
MWW w mm N mw ”M “mm THOMAS E. BEITELMAN
2)2x10 8 Up to 140" LICENSE #51870
(2)2x12 8

Up to Ec_\.&M.- \\n\‘\“

5/6/2021

Aluminum Screen Enclosures - General Drawings

|CLIENT:

Viarios

z | Dubes

SCALE




o [

==
B
2

LOAroud|

Leoz/s/s

¥} TZ

NYWT3L138 '3 SYWOHL
ATNO T9HNLONYLS

weasg

e A TVOS|
sBuimel [eJauss - SAINSOjOUT USaI0g WnUWnjy

048LG# ISNI3IN Pt

aInjonJ)s Jsoy woiy 0-z | puokaq Buipua)xe swool 10} palinbay

Buiwies] Jooy J€ [1ejaQ 99e.g PUIM [ed1dAL

Lweag/jauueyo pue
aoe.q/j@uueyD ybnoiy)

SINS 043 (€) Unm yoepy

Weag/[auueyd pue
aoelg/|auueyo ybnoiyy
SINS 0L# (€) Yim yoepy
|suueyd 8/l Z2x % |

[BuuUeyd B/ XA L —

$
XBU ‘90 .72 JB paoeds

isod I|/ SM3I0S UM Yoy
ZXLUmegxeg
N F

g |

538500 MaI0s
ol Z x z ybnosuyy Jo
o3 1s0d woyj Aj[uiajul yoeny

AN 1sod woy
Ajjeussyur yoepy

a0eIg PUIp

]
=S ~
Wl =.L8B57 =

OO Je UOjOBULO) 8|qed

p

/

sdwg|o omj Jo wnuwiuiw
_.___\6 Iqed ssa|ulels 8/1

o]
=
Z
el
-]
=
= e
g
HH ,
4] H
Mm 2 o /
EH B
i & sdwe oM} JO WNLIUIW
ww g M 2|qeD SSa|uIelS 8/
g W (9z1s Ul SalBA) 1504 ——
] 1
) = 19S8N /L ——— |
o)
=

/I M310S POOM € X b/L (Z)

/

s

«cl = .£ 9[B2§

e doj je uonosuuo) 8jqed

ZXLyumzxzio
L .SPO0XEXT

+076€ NYHL ¥3LVIHO SNVdS HO4 TVLIA ONINISALLS TYNUILNI TVOIdAL
MIIA NV

upeng

£

I LY

/

Fi
/[
En»ms.s_u?esnu\_ /l:....?_.-z.__.m_aa

J
wyy #Buy SZLOXZXZ

MIIA NOLLIIS

weag Bune-435 JO ¥
_ /

IM weag
44 o) B3 Bupueising Ujng JO S3A004D) (BRI
wy) ajBuy sTLOXZX 2 O] SMADS .2 X 0L ()

"QIMOTIV ST HLONTT 3DVHE 33N IHL ¥ 40 ISYIUINI
NV ‘ATNO AN3 INO NO 32Vd8 33N HOd "NVdS JHL 40 SONI HLOE NO 4V 530vua 4l
HLON3IT 30vHd 33NN JHL A8 Q3SVIUONI 38 AVIA SNVAS WV3E 4004 I18VMOTTY *3LON

3pIS Yoe3 0L# () /m Yoeny puy .
1504 puy weag J3AQ uoisniixj yojon| ¥YPO0OX¥XZ| .9-¥ OL.0-€

9pIS y2e3 OL# (€) /m [duueyd-H 2| 0S00XEXZ| .0-€ OL.0O-Z

apIS yoe3g oL# () /m |puueyd-H .Z| +P00XZXZ| .0-20L.0

NOLLDINNOD NOISMYIX3 |HLONIT IDVE

NOLLD3INNOD ANV 3DVdd 33N 3ZIS WNINININ

"SNY4S QUVITIEVL JHL ¥OJ CRANDTY LON T4y S3IVHE FINN AUON

FINAIHDS ANV VLA 3DVHE JINX TVOIdAL

HLONT1 30VuE 33N
S10198UUO) puy IS

104 ajqe) 395 adeig AauY -

w

| 1504

|auuey)-H ayj Joj paympsqns
ag Aepy [auuey) Bumeay =%

8|4 Jo pado|s weag Gupew-jles




1/4" SMS with washers per table

3" Structall Roof Panel with flashing
or receiver cap al end and
247 max. overhang -~

To Aluminum
Scale: 2" =1'-0"

1/4" x 4" Wood Screws
@ each slud

- Drip Edge

#8 Screws al 8" O.C,

Composite roof panel seat top and Boltom

Attachment of Composite Roof Panel To
Existing Structure
Scale: 2" = 1'-0"

Ridge Cap

Structall Roof Panel with
flashing or receiver cap at end
and 24" max. overhang

Angled End Cap

Attachment of Structal Composite

Panels at Ridge
Scale: 3"=1'-0"

120 mph, 3 Sec. Gust, Exposure "B

Metal Pan
#8 x 3/4 SMS with washer
(3) per pan —
¥ ¥ ¥
w <
Edge Beam

Metal Pan Roof At Edge Beam (Steel Pans)

Panel Thickness | Max. Span | Fastener Spacing
3" x0.240 16’-7" 10"
3" x 0.030 19'-6" 9"
3" x 26 Ga, 19'-6" 8"
4" x 0.240 18'-2" 10"
4" x 0.030 20'-11" g"
4" x 26 Ga. 21'-5" 8"
6" x 0.240 22'-7" 10"
6" x 0.030 26'-1" 9"
6" x 26 Ga. 26'-9" 8"

130 mph, 3 Sec. Gust, Exposure "B"

Panel Thickness Fastener Spacing
3" x0.240 8"
3"x 0.030 7%
3" x 26 Ga. 6 %"
4" x 0.240 8"
4" x 0.030 7%
4" x 26 Ga. 6 %"
6" x 0.240 8"
6" x 0.030 7%
6" x 26 Ga. 6 %"

Notes:
1 - Min. Roof Slope per FBC-2020 Rev 7
2 - Span is measured from center to center of supporting members
2 - 24" max. overhang beyond support framing
3 - Fasteners must be installed a minimum of 2 2" from end of panel

and include 1 %" diameter x

0.4" thick washers

Scale: NTS

“Screen Rooms Only”
(120 mph, 3 second gust wind loads)
Exposure Category

B c
0.024" Thickness 131 | 111"
0.030" Thickness 1447 [ 11117

(130 mph, 3 second gust wind loads)
Exposure Category

B C
0.024" Thickness 12'-6" | 10'-7"
0.030" Thickness 13-6" | 11'-8"

r 3"

(120 mph, 3 second gust wind loads)

Exposure Category

B C
0.024” Thickness 146" | 12-3"
0.030" Thickness 15-8" | 13-3"

(130 mph, 3 second gust wind loads)

Beitelman, PE

Thomas E.
Florida PE #51870, S1 22060

2626 E. Park Ave., Unit 4303, Tallahassce, FL 32301
(321) 543-6750 - beitelmandgmail. com

Exposure Category
B C
0.024" Thickness 13'-8" | 11'-7"
0.030" Thickness 14'-9" | 12'-6"
STRUCTURAL ONLY
THOMAS E. BEITELMAN
LICENSE #51870
L e —=

5/5/2021

Aluminum Screen Enclosures - General Drawings

[[PROJECT

|CLIENT:

Varies

|SCALE

[Resicapr Jows: Jomopion
I




g | TAg wopady l

wod @ Bonupig - 05L9-TrS (120
L 'COEY HUp) oAy d F 79T

10£2€ 714 "

R
3] 10 [8] waus L202/S/S
z15|=
J>e)
= 2L T
w m ="} T&
=] 0/8L5# ISNION
NYWI3L1138 '3 SYWOHL
W ATNC IWHNLONYLS
EX
2
(=4
=
7
= m 59 I B A A 3 VPOOXZXE
3 deug
m m B Y P T VIEOX Z600% 01X ¢ bk b E-Z 0G00X¥PXe
3 P T S T T S A S 4 GOE0XZI00XBK 58 o) & SPOOXEXC
|2 P T T S o S VS VZZOXKEL00XBK 6°0 5, G GPODXZXE
&g G868 .0 80050t YZZUX ZL00 X BRE .9 " 02 GG00X X
a = 20 AT SIEGE 00 eI 09 68 ; &9 PFO0XZX
o . . 5ot 30T 0¥ 900X 0 F 809 08 9 e AOIIOH
K G-, V220X ZLO0XB % WM Pe0T MEnguL
& 3250
F VZZ UK ZI00X 8K
3 : 5 070X SS00% X
..-Im 2 S0, .ﬁrlmmx mﬂ Xgx
o K 0~ N EL LS x
ﬁ m K K 00, 0% P00 %P
ul il ._vn -, ELEE] u_.__—lqu.ﬂnﬂ
m .m ~ iAiM PeoT Aisingil
b g aInsoa%s "1SN6 585 ¢ 'GdW §E | PUE GAW 0ZL
BT A A A A AR T FICOX 2500 X 0L X E WIPIM PE61
B.LL .68l .68l 0Bl .E0Z el | Q0L 0K ZBO0XBXE ; 588 ¢ qdt
T S Y S Y 8l __.0-0Z [ ¥ezo xﬁa.:axm g @Insodx3 jsnb "28g g "yd 0z} - sjsod OH st suol
510t R OXZID0Xax
Sleag DUney-jiag ajqnog
VIEOXZB00X 0L X E
GO0 0% ZROOX B
PZZOXZLO0XBY
mmo m Mwﬂ. x X
021 0% GG00K LK
ael.b X0500%X9x%
SILOXDS00%GX
Q0L X OFOOX P ¥
o
R £ GO0XG00XVXE
08 9.8 B SO0XG00XEXE
ov_ 0. .0~ YPOOXEZXE
deus
: - Ta_ e GPOOXGPOOXEXE
- mwwmn_m.wmmwﬂ.nuxxﬁwww v F b PPOOX PRO0XZX 2
R N A A FIE0X ZB00X0L¥E TR LLH
= A 82 6E_ BBL | G0t 0XZa00%6%Z e LT [ FIE0X 600X 0L X ¢
=] 681 B 12 .6EC__ £SC [ vec0%el00% 672 b Lk 08 0X2B00X6X
. EEA Rk 021 0%0500X9X .0 . DX ZI00X6K2
w = [SWeag BUNERIL 50 9LLOX0500X% g 002 0XZI00%8X
m | PIE0X2B00X0LXZ 00L0XOr0 0%y X2 — 80 O¥GE00¥X L X
3 —soroxza 09 a0 UNEN-I 0I5 OX0500X9%%
= H A X Bujoeds 150d [— & ElL 5 D X
=1 0-0F 3 : DEETES A
a 8 a0rd 08 a0 0 slieag BUNEA-IPS
] m Bupeds 1504
3 e 8, 8INsodxg TsND 99 ¢ 'YAW 0E}
[4-] 6 08 .06 SO0XS00XPXE
s o .0-8 GOOXGOOXEXE
o g 0 PWOOXEXE - -~
m e L deis o8 g8 &9 &8 o9 SYOOXGPOOXEXE
“ -il 0-6F | BBEOXZ600%X0L X2 £b LY £F B £ PPOOXPPOOXZ X E
- KA PLEOX ZB00X 0L X E 681 08 | S0E0XCBODXEXC T 5
6002 S0E 0% Z80 0¥ B¥ 2 6650 04l | bec0Xezl00X8X¢ E
5 681 0761 ¥ZZ0X CLOOXBX 2 g .0-81 02l OXGG00XLXE | 08¢ .&.6¢
H |  VZZOKZl0OXax K- 0.5t 07 L = EE B _bﬂ
[SWeag Bule-J9% aianod | i gL | COLLOX0S00%G X 22 £ B
al ut At m m N Nwd.m 3 : e £ .
ww.” 8L R S 4 L Oz | OOTO*svooxyie _lw.m__” e mm
: 05t T [ $zZ0XZI00XBX 0L ﬁ&Loﬂ w0 UREW-ISS - - =T
P ~o1 ¥ZZ0XZL00KGX S 150d o
AT Y [ 0Z1 07 5500% L¥ Q00 O :
5E g PO De0 DR W08 W0 0"
68 -0k SLLOX0S00%XG K U[5895 180d
L0 08 00LOX R0 DX pX Km S 0 L] r_
o s EL B
L7 L 082 Ll LU LRl 1=24s fq peseaioll 8q o} paiad S8 SUEGS ‘USRI ELO'0 X bL X 8L J0d.,

aaom E ueds mﬁﬂ owaw_uc_ m_oe plEsUBLL-|n} Jo} ‘2401 Aq ueds ajqe) 95EBIUI &oe ES%E.__E 104,




